Honors Precalculus Name

Unit 2 Review Date Period

Find the amplitude and the period. Then sketch the graph.
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Find the phase shift and the vertical shift. Then sketch the graph.

5) y=cos (6 +45)-2
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Find the period. Then sketch the graph.

9) y=3csc26
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11) y=3tan 26
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Find the phase shift and the vertical shift

13) y=sec (6 -150) + 1

-
9 180° | 270° | 360° | 450° | 540°
=
=3
=4
=J|
=0
14) y =csc (6 - 60) -2
U}
I
4
3
1
-
9 180° | 270° | 360° | 450° | 540°
=1
=3
=4
=J|
=0
Y
15) y=2+tan (6 - 60)
\
J|
4
3
1
- 6 120° | 180° | 240° | 300° | 360°

. Then sketch the graph.



16) y =2+ cot (6 +210)

\

PRSI SN g

60° | 120° | 180° | 240° | 300° | 360°

Solve each equation for 0 < 6 < 360.

17) —cos 6 = -1

19) é=1+sinl9
2

18) \/2 = —2cos 36
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20) _E=_3 + sin 36



Solve each equation for 0 < 6 < 2m.

2 22) —4sin -260 =2
21)4+sin0=8+\/7 )

2
23) _%= 34 cos 6 24) 34/3 = 6cos ~46

Find all solutions to each equation in degrees.
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25) 5+sin20=? 26) —%-cos—36=
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Find all solutions to each equation in radians.

27) 8cos —460 = -4

Solve each equation for 0 < 6 < 360.

29) S5+csc =3
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